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QUESTION 1

How does VMware Cross-Cloud Architecture address incompatibility between clouds? 

A. VMware Cross-Cloud Architecture does not address incompatibility between clouds. 

B. By using network virtualization technology across clouds. 

C. By replacing public clouds. 

D. By replacing private clouds. 

Correct Answer: B 

 

QUESTION 2

What is a compelling reason for adopting NSX? 

A. NSX can operate at all layers of the OSI model. 

B. NSX can be installed directly on top of existing networking devices in the place of the original firmware. 

C. NSX programmatically creates, snapshots, deletes, and restores software-based virtual networks. 

D. NSX eliminates the need for networking hardware between physical ESXi hosts. 

Correct Answer: C 

Reference: https://docs.vmware.com/en/VMware-NSX-for-vSphere/6.2/com.vmware.nsx-cross-vcenter-
install.doc/GUID-10944155-28FF-46AA-AF56-7357E2F20AF4.html 

 

QUESTION 3

Which two benefits are delivered through VMware Software Defined Data Center (SDDC)? (Choose two.) 

A. Complex architecture 

B. IT driven policies 

C. Comprehensive management 

D. Flexible cloud delivery 

E. Increased administrative cost 

Correct Answer: BC 

Reference: https://www.vmware.com/solutions/software-defined-datacenter.html 
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QUESTION 4

A supervisor wants employees to seamlessly log into remote applications without having to enter their credentials
multiple times. What is required to support true Single Sign On (SSO)? 

A. Horizon 7 and Windows Server 2016 

B. Horizon 7 and any Linux Operating System 

C. Only Horizon 7 is required 

D. Horizon 7 and Identity Manager 

Correct Answer: D 

Reference: https://docs.vmware.com/en/VMware-Horizon-7/7.3/horizon-architecture-planning/GUID-
E8152572-1B10-42C2-B605-1EF738AC2D20.html 

 

QUESTION 5

Which two are primary use cases for VMware vSphere? (Choose two.) 

A. Centralized Storage 

B. Cloud Automation 

C. Containerized Modern Apps 

D. Distributed Networking 

E. Virtualized Big Data 

Correct Answer: CE 
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